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1.
(24163-!-item-!-188;#058&001054)

Since the start of the space age, more and more littering has occurred in orbits near Earth, often because the intentional discarding of lens caps, packing material, fuel tanks, and payload covers.

(A) more and more littering has occurred in orbits near Earth, often because

(B) orbits near Earth have become more and more littered, often from

(C) orbits near Earth became littered more and more, often resulting from

(D) there have been more and more littering of orbits near Earth, often because of

(E) there had been littering more and more of orbits near Earth, often with 
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2.
(24209-!-item-!-188;#058&001071)

In the Louisiana Purchase of 1803, the United States acquired 828,000 square miles for about four cents an acre, which more than doubled the country's size and that brought its western border within reach of the Pacific Ocean.

(A) In the Louisiana Purchase of 1803, the United States acquired 828,000 square miles for about four cents an acre, which more than doubled the country's size and that brought

(B) For about four cents an acre the United States acquired, in the Louisiana Purchase of 1803, 828,000 square miles, more than doubling the country's size and it brought

(C) With the Louisiana Purchase in 1803, the United States acquired 828,000 square miles for about four cents an acre, more than doubling its size and bringing

(D) The United States, in the Louisiana Purchase of 1803, for about four cents an acre, acquired 828,000 square miles, more than doubling the country's size, bringing

(E) Acquiring 828,000 square miles in the Louisiana Purchase of 1803, the United States bought it for about four cents an acre, more than doubling the country's size and bringing 
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1.
(24021-!-item-!-188;#058&000691)

On Pacific islands, a newly arrived gecko species, the house gecko, is displacing the previously established mourning gecko in urban areas, but populations of the two species are more stable in rural areas far from human settlement.  The house gecko does not attack the mourning gecko, but in areas where insects congregate it prevents the mourning gecko from feeding on them.

Which of the following contributes most to an explanation of the difference between gecko populations in urban and rural areas?

(A) In urban areas, geckos are valued because they eat so many insects.

(B) Geckos defend territories against other members of the same species.

(C) House geckos that arrive on islands are carried there in boats and planes.

(D) In places where there are lighted buildings, insects tend to gather around the light.

(E) Mourning geckos are all females and reproduce asexually, but house geckos reproduce sexually.
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3.
(24543-!-item-!-188;#058&001465)

Defying efforts by policymakers on both sides of the Atlantic at restraining it, the United States dollar, continuing its rise, reaching its highest level in six years against the German mark.

(A) at restraining it, the United States dollar, continuing its rise, reaching

(B) at restraining it, the rise of the United States dollar continued, to reach

(C) at restraining it, the United States dollar continued rising, and it reached

(D) to restrain it, the United States dollar continued its rise, reaching

(E) to restrain it, the United States dollar is continuing its rise, and to reach 
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Essay #1.  009
(21233-!-item-!-188;#058&00009-00)

The modern multinational corporation is described as having originated when the owner-managers of nineteenth-century British firms carrying on international trade were replaced by teams of salaried managers organized into hierarchies.  Increases in the volume of transactions in such firms are commonly believed to have necessitated this structural change.  Nineteenth-century inventions like the steamship and the telegraph, by facilitating coordination of managerial activities, are described as key factors. Sixteenth- and seventeenth-century chartered trading companies, despite the international scope of their activities, are usually considered irrelevant to this discussion:  the volume of their transactions is assumed to have been too low and the communications and transport of their day too primitive to make comparisons with modern multinationals interesting.

In reality, however, early trading companies successfully purchased and outfitted ships, built and operated offices and warehouses, manufactured trade goods for use abroad, maintained trading posts and production facilities overseas, procured goods for import, and sold those goods both at home and in other countries.  The large volume of transactions associated with these activities seems to have necessitated hierarchical management structures well before the advent of modern communications and transportation.  For example, in the Hudson's Bay Company, each far-flung trading outpost was managed by a salaried agent, who carried out the trade with the Native Americans, managed day-to-day operations, and oversaw the post's workers and servants.  One chief agent, answerable to the Court of Directors in London through the correspondence committee, was appointed with control over all of the agents on the bay.

The early trading companies did differ strikingly from modern multinationals in many respects.  They depended heavily on the national governments of their home countries and thus characteristically acted abroad to promote national interests.  Their top managers were typically owners with a substantial minority share, whereas senior managers' holdings in modern multinationals are usually insignificant.  They operated in a preindustrial world, grafting a system of capitalist international trade onto a premodern system of artisan and peasant production.  Despite these differences, however, early trading companies organized effectively in remarkably modern ways and merit further study as analogues of more modern structures.
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Question #1.  009-01
(21279-!-item-!-188;#058&000009-01)

The author's main point is that

(A) modern multinationals originated in the sixteenth and seventeenth centuries with the establishment of chartered trading companies

(B) the success of early chartered trading companies, like that of modern multinationals, depended primarily on their ability to carry out complex operations

(C) early chartered trading companies should be more seriously considered by scholars studying the origins of modern multinationals

(D) scholars are quite mistaken concerning the origins of modern multinationals

(E) the management structures of early chartered trading companies are fundamentally the same as those of modern multinationals 
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Question #2.  009-04
(21325-!-item-!-188;#058&000009-04)

With which of the following generalizations regarding management structures would the author of the passage most probably agree?

(A) Hierarchical management structures are the most efficient management structures possible in a modern context.

(B) Firms that routinely have a high volume of business transactions find it necessary to adopt hierarchical management structures.

(C) Hierarchical management structures cannot be successfully implemented without modern communications and transportation.

(D) Modern multinational firms with a relatively small volume of business transactions usually do not have hierarchically organized management structures.

(E) Companies that adopt hierarchical management structures usually do so in order to facilitate expansion into foreign trade. 
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Question #3.  009-05
(21371-!-item-!-188;#058&000009-05)

The passage suggests that modern multinationals differ from early chartered trading companies in that

(A) the top managers of modern multinationals own stock in their own companies rather than simply receiving a salary

(B) modern multinationals depend on a system of capitalist international trade rather than on less modern trading systems

(C) modern multinationals have operations in a number of different foreign countries rather than merely in one or two

(D) the operations of modern multinationals are highly profitable despite the more stringent environmental and safety regulations of modern governments

(E) the overseas operations of modern multinationals are not governed by the national interests of their home countries 
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Question #4.  009-07
(21417-!-item-!-188;#058&000009-07)

According to the passage, early chartered trading companies are usually described as

(A) irrelevant to a discussion of the origins of the modern multinational corporation

(B) interesting but ultimately too unusual to be good subjects for economic study

(C) analogues of nineteenth-century British trading firms

(D) rudimentary and very early forms of the modern multinational corporation

(E) important national institutions because they existed to further the political aims of the governments of their home countries 

Q9.  
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2.
(24069-!-item-!-188;#058&000703)

Downtown Villieu was once a flourishing business district, but most Villieu-area businesses are now located only in the suburbs.  The office buildings downtown lack the modern amenities most business operators demand today.  To lure more businesses downtown, Villieu officials plan to have several modern office buildings constructed and to offer reduced local tax rates to any business that leases space in a new downtown building.

Which of the following, if true, most threatens the plan's likelihood of success?

(A) Most of the businesses currently located in downtown Villieu have long-term leases on the space they occupy there.

(B) The existing office buildings in downtown Villieu have, on average, a much higher vacancy rate than do office buildings in Villieu's suburbs.

(C) The local tax rates in Villieu's suburbs are significantly lower than downtown Villieu's proposed rate for businesses that lease space in the new office buildings.

(D) Most of the businesses that currently lease office space in downtown Villieu also lease office space in Villieu's suburbs.

(E) With the new office buildings, downtown Villieu would have a greater amount of modern office space than any other downtown business district in the region.
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3.
(24117-!-item-!-188;#058&000708)

Northern Air has dozens of flights daily into and out of Belleville Airport, which is highly congested.  Northern Air depends for its success on economy and quick turnaround and consequently is planning to replace its large planes with Skybuses, whose novel aerodynamic design is extremely fuel efficient.  The Skybus' fuel efficiency results in both lower fuel costs and reduced time spent refueling.

Which of the following, if true, could present the most serious disadvantage for Northern Air in replacing their large planes with Skybuses?

(A) The Skybus would enable Northern Air to schedule direct flights to destinations that currently require stops for refueling.

(B) Aviation fuel is projected to decline in price over the next several years.

(C) The fuel efficiency of the Skybus would enable Northern Air to eliminate refueling at some of its destinations, but several mechanics would lose their jobs.

(D) None of Northern Air's competitors that use Belleville Airport are considering buying Skybuses.

(E) The aerodynamic design of the Skybus causes turbulence behind it when taking off that forces other planes on the runway to delay their takeoffs.

Essay #2.  091
(21422-!-item-!-188;#058&00091-00)

More selective than most chemical pesticides in that they ordinarily destroy only unwanted species, biocontrol agents (such as insects, fungi, and viruses) eat, infect, or parasitize targeted plant or animal pests.  However, biocontrol agents can negatively affect nontarget species by, for example, competing with them for resources:  a biocontrol agent might reduce the benefits conferred by a desirable animal species by consuming a plant on which the animal prefers to lay its eggs. Another example of indirect negative consequences occurred in England when a virus introduced to control rabbits reduced the amount of open ground (because large rabbit populations reduce the ground cover), in turn reducing underground ant nests and triggering the extinction of a blue butterfly that had depended on the nests to shelter its offspring.  The paucity of known extinctions or disruptions resulting from indirect interactions may reflect not the infrequency of such mishaps but rather the failure to look for or to detect them:  most organisms likely to be adversely affected by indirect interactions are of little or no known commercial value and the events linking a biocontrol agent with an adverse effect are often unclear.  Moreover, determining the potential risks of biocontrol agents before they are used is difficult, especially when a nonnative agent is introduced, because, unlike a chemical pesticide, a biocontrol agent may adapt in unpredictable ways so that it can feed on or otherwise harm new hosts.
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Question #5.  091-01
(21468-!-item-!-188;#058&000091-01)

The passage is primarily concerned with

(A) explaining why until recently scientists failed to recognize the risks presented by biocontrol agents

(B) emphasizing that biocontrol agents and chemical pesticides have more similarities than differences

(C) suggesting that only certain biocontrol agents should be used to control plant or animal pests

(D) arguing that biocontrol agents involve risks, some of which may not be readily discerned

(E) suggesting that mishaps involving biocontrol agents are relatively commonplace 
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Question #6.  091-03
(21514-!-item-!-188;#058&000091-03)

According to the passage, which of the following is a concern that arises with biocontrol agents but not with chemical pesticides?

(A) Biocontrol agents are likely to destroy desirable species as well as undesirable ones.

(B) Biocontrol agents are likely to have indirect as well as direct adverse effects on nontarget species.

(C) Biocontrol agents may change in unforeseen ways and thus be able to damage new hosts.

(D) Biocontrol agents may be ineffective in destroying targeted species.

(E) Biocontrol agents may be effective for only a short period of time. 
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Question #7.  091-06
(21560-!-item-!-188;#058&000091-06)

The passage suggests which of the following about the blue butterfly mentioned in the highlighted text?

(A) The blue butterfly's survival was indirectly dependent on sustaining a rabbit population of a particular size.

(B) The blue butterfly's survival was indirectly dependent on sustaining large amounts of vegetation in its habitat.

(C) The blue butterfly's survival was threatened when the ants began preying on its offspring.

(D) The blue butterfly was infected by the virus that had been intended to control rabbit populations.

(E) The blue butterfly was adversely affected by a biocontrol agent that competed with it for resources. 
Q14.
p2-cr 
4.
(24257-!-item-!-188;#058&001200)

Which of the following most logically completes the argument?

A new machine for harvesting corn will allow rows to be planted only fifteen inches apart, instead of the usual thirty inches.  Corn planted this closely will produce lower yields per plant.  Nevertheless, the new machine will allow corn growers to double their profits per acre because __________.

(A) with the closer spacing of the rows, the growing corn plants will quickly form a dense canopy of leaves, which will, by shading the ground, minimize the need for costly weed control and irrigation

(B) with the closer spacing of the rows, corn plants will be forced to grow taller because of increased competition for sunlight from neighboring corn plants

(C) with the larger number of plants growing per acre, more fertilizer will be required

(D) with the spacing between rows cut by half, the number of plants grown per acre will almost double

(E) with the closer spacing of the rows, the acreage on which corn is planted will be utilized much more intensively than it was before, requiring more frequent fallow years in which corn fields are left unplanted
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4.
(24589-!-item-!-188;#058&001492)

As well as heat and light, the Sun is the source of a continuous stream of atomic particles known as the solar wind.

(A) As well as heat and light, the Sun is the source of a continuous stream

(B) Besides heat and light, also the Sun is the source of a continuous stream

(C) Besides heat and light, the Sun is also the source of a continuous streaming

(D) The Sun is the source not only of heat and light, but also of a continuous stream

(E) The Sun is the source of not only heat and light but, as well, of a continuous streaming 
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5.
(24635-!-item-!-188;#058&001505)

Like their male counterparts, women scientists are above average in terms of intelligence and creativity, but unlike men of science, their female counterparts have had to work against the grain of occupational stereotyping to enter a "man's world."

(A) their female counterparts have had to work

(B) their problem is working

(C) one thing they have had to do is work

(D) the handicap women of science have had is to work

(E) women of science have had to work 
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5.
(24305-!-item-!-188;#058&001204)

Microscopic plants called algae grow inside the top layer of sea ice in the Antarctic if enough sunlight reaches that layer of ice and enough seawater, which contains nutrients, reaches that layer after splashing onto the surface.  Even though moderate snow cover reduces the sunlight that filters into the top layer, sea ice with moderate snow cover typically contains even more algae in the top layer than does sea ice with less snow cover.

Which of the following, if true, most helps to explain the apparent discrepancy?

(A) As the weight of accumulated snow forces ice lower in the water, more seawater splashes onto the surface and seeps through the snow.

(B) Seawater in the Antarctic often contains higher concentrations of nutrients than does seawater in more temperate regions.

(C) As the air temperature around sea ice decreases during the winter, the likelihood decreases that snow will fall and thus add to any existing snow cover.

(D) The nutrients on which algae rely are common in seawater throughout the Antarctic.

(E) More sunlight filters through a layer of ice than through an equally thick layer of snow.
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6.
(24681-!-item-!-188;#058&001533)

From studies of the bony house of the brain, which is the cranium, located in the back of the skull, come what scientists know about dinosaur brains.
(A) From studies of the bony house of the brain, which is the cranium, located in the back of the skull, come what scientists know about dinosaur brains.

(B) The knowledge that scientists know about dinosaur brains comes from studies of the bony house of the brain, located in the back of the skull, that is, the cranium.

(C) The knowledge of dinosaur brains that scientists have come from studies of the bony house of the brain, which is located in the back of the skull and is called the cranium.

(D) What scientists know about dinosaur brains comes from studies of the cranium, the bony house of the brain located in the back of the skull.

(E) Located in the back of the skull is the cranium, the bony house of the brain, and it is from studies of this that scientists know what they know about dinosaur brains. 
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7.
(24727-!-item-!-188;#058&001574)

So-called green taxes, which exact a price for the use of polluting or nonrenewable fuels, are having a positive effect on the environment and natural resource base of countries as varied as China, the Netherlands, and Hungary.

(A) as varied as

(B) as varied as are

(C) as varied as those of

(D) that are as varied as

(E) that are varied as are 
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8.
(24773-!-item-!-188;#058&001691)

Ozone, a special form of oxygen that screens out harmful ultraviolet rays, reaches high concentrations twelve miles above Earth, where it has long appeared that it was immune from human influence; we have now realized, though, that emissions of industrial chlorofluorocarbons deplete the ozone layer.

(A) has long appeared that it was immune from

(B) has long appeared to have been immune from

(C) has long appeared as being immune to

(D) had long appeared immune to

(E) had long appeared that it was immune to 
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6.
(24353-!-item-!-188;#058&001207)

Which of the following most logically completes the passage?

Garnet and RenCo each provide health care for their employees.  Garnet pays for both testing of its employees' cholesterol levels and treatment of high cholesterol.  This policy saves Garnet money, since high cholesterol left untreated for many years leads to conditions that require very expensive treatment.  However, RenCo does not have the same financial incentive to adopt such a policy, because __________.

(A) early treatment of high cholesterol does not entirely eliminate the possibility of a stroke later in life

(B) the mass media regularly feature stories encouraging people to maintain diets that are low in cholesterol

(C) RenCo has significantly more employees than Garnet has

(D) RenCo's employees are unlikely to have higher cholesterol levels than Garnet's employees

(E) the average length of time an employee stays with RenCo is less than it is with Garnet

Q22.
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7.
(24401-!-item-!-188;#058&001291)

United Lumber will use trees from its forests for two products.  The tree trunks will be used for lumber and the branches converted into wood chips to make fiberboard.  The cost of this conversion would be the same whether done at the logging site, where the trees are debranched, or at United's factory.  However, wood chips occupy less than half the volume of the branches from which they are made.

The information given, if accurate, most strongly supports which of the following?

(A) Converting the branches into wood chips at the logging site would require transporting a fully assembled wood-chipping machine to and from the site.

(B) It would be more economical to debranch the trees at the factory where the fiberboard is manufactured.

(C) The debranching of trees and the conversion of the branches into chips are the only stages in the processing of branches that it would be in United's economic advantage to perform at the logging site.

(D) Transportation costs from the logging site to the factory that are determined by volume of cargo would be lower if the conversion into chips is done at the logging site rather than at the factory.

(E) In the wood-processing industry, branches are used only for the production of wood chips for fiberboard.

Q23
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9.
(24819-!-item-!-188;#058&001693)

The Environmental Protection Agency frequently puts mandatory controls on toxic substances that present as little risk as one in a million chances to cause cancer.

(A) as little risk as one in a million chances to cause

(B) as little risk as one chance in a million of causing

(C) as little risk as one chance in a million that it will cause

(D) a risk as little as one chance in a million for causing

(E) a risk as little as one chance in a million for it to cause 
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8.
(24449-!-item-!-188;#058&001338)

Which of the following most logically completes the argument?

Utrania was formerly a major petroleum exporter, but in recent decades economic stagnation and restrictive regulations inhibited investment in new oil fields.  In consequence, Utranian oil exports dropped steadily as old fields became depleted.  Utrania's currently improving economic situation, together with less-restrictive regulations, will undoubtedly result in the rapid development of new fields.  However, it would be premature to conclude that the rapid development of new fields will result in higher oil exports, because __________.

(A) the price of oil is expected to remain relatively stable over the next several years

(B) the improvement in the economic situation in Utrania is expected to result in a dramatic increase in the proportion of Utranians who own automobiles

(C) most of the investment in new oil fields in Utrania is expected to come from foreign sources

(D) new technology is available to recover oil from old oil fields formerly regarded as depleted

(E) many of the new oil fields in Utrania are likely to be as productive as those that were developed during the period when Utrania was a major oil exporter

Essay #3.  114
(21569-!-item-!-188;#058&00114-00)

Ethnohistoric documents from sixteenth-century Mexico suggesting that weaving and cooking were the most common productive activities for Aztec women may lead modern historians to underestimate the value of women's contributions to Aztec society.  Since weaving and cooking occurred mostly (but not entirely) in a domestic setting, modern historians are likely to apply to the Aztec culture the modern Western distinction between "private" and "public" production.  Thus, the ethnohistoric record conspires with Western culture to foster the view that women's production was not central to the demographic, economic, and political structures in sixteenth-century Mexico.

A closer examination of Aztec culture indicates that treating Aztec women's production in Mexico in such a manner would be a mistake.  Even if the products of women's labor did not circulate beyond the household, such products were essential to population growth.  Researchers document a tenfold increase in the population of the valley of Mexico during the previous four centuries, an increase that was crucial to the developing Aztec political economy.  Population growth--which could not have occurred in the absence of successful household economy, in which women's work was essential--made possible the large-scale development of labor-intensive chinampa (ridged-field) agriculture in the southern valley of Mexico which, in turn, supported urbanization and political centralization in the Aztec capital.

But the products of women's labor did in fact circulate beyond the household.  Aztec women wove cloth, and cloth circulated through the market system, the tribute system, and the redistributive economy of the palaces.  Cotton mantles served as a unit of currency in the regional market system.  Quantities of woven mantles, loincloths, blouses, and skirts were paid as tribute to local lords and to imperial tax stewards and were distributed to ritual and administrative personnel, craft specialists, warriors, and other faithful servants of the state.  In addition, woven articles of clothing served as markers of social status and clothing fulfilled a symbolic function in political negotiation.  The cloth that was the product of women's work thus was crucial as a primary means of organizing the flow of goods and services that sustained the Aztec state.

Q25.
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Question #8.  114-01
(21615-!-item-!-188;#058&000114-01)

The author of the passage would be most likely to agree with which of the following statements about the documents mentioned in the first sentence of the passage?

(A) They contain misleading information about the kinds of productive activities Aztec women engaged in.

(B) They overlook certain crucial activities performed by women in Aztec society.

(C) They provide useful information about the way that Aztec society viewed women.

(D) They are of limited value because they were heavily influenced by the bias of those who recorded them.

(E) They contain information that is likely to be misinterpreted by modern-day readers. 
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Question #9.  114-02
(21661-!-item-!-188;#058&000114-02)

According to the passage, Aztec women's cloth production enabled Aztec society to do which of the following?

(A) Expand women's role in agriculture

(B) Organize the flow of goods and services

(C) Develop self-contained communities

(D) Hire agricultural laborers from outside the society

(E) Establish a higher standard of living than neighboring cultures 
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Question #10.  114-03
(21707-!-item-!-188;#058&000114-03)

Which of the following best describes the function of the third paragraph of the passage?

(A) It attempts to reconcile conflicting views presented in the previous paragraphs.

(B) It presents evidence intended to undermine the argument presented in the second paragraph.

(C) It provides examples that support the position taken in the first sentence of the second paragraph.

(D) It describes the contents of the documents mentioned in the first paragraph.

(E) It suggests that a distinction noted in the first paragraph is valid.
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Question #11.  114-06
(21753-!-item-!-188;#058&000114-06)

The passage is primarily concerned with

(A) using modern understanding of cultural bias to challenge ethnohistoric documents

(B) evaluating competing descriptions of women's roles in Aztec society

(C) comparing the influence of gender on women's roles in Aztec society and in modern society

(D) remedying a potential misconception about the significance of women's roles in Aztec society

(E) applying new evidence in a reevaluation of ethnohistoric documents 
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9.
(24497-!-item-!-188;#058&001429)

Beta Corporation claims that it no longer has enough work for the 60 computer data-entry workers that it is laying off.  These workers have heard, however, that the company is buying 100 new computers.  So the workers concluded that the company's real reason for laying them off is to fill their jobs with lower-paid workers.

Which of the following, if true, would most undermine the workers' conclusion?

(A) Most of the workers being laid off know how to enter data on a number of different computer systems.

(B) Orders for almost all of Beta Corporation products have increased over the past year.

(C) A recent memorandum from the president of Beta Corporation requested that all data generated by the company be stored in computerized form.

(D) Beta Corporation's computer data-entry workers are more experienced and hence more highly paid than people doing comparable work in other companies.

(E) Beta Corporation's new computers will allow its current management and sales staff to perform many of the tasks that the data-entry workers were previously doing.
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10.
(25013-!-item-!-188;#058&001959)

The rise of the Incan empire rested not only on the Incas' military might and the ability of their rulers but also they imposed a highly organized economic and political system on many different ethnic groups and permitting them to retain many of their customs and often their own leaders.

(A) they imposed a highly organized economic and political system on many different ethnic groups and permitting them

(B) on their imposition of a highly organized economic and political system on many different ethnic groups, who were permitted

(C) because of their imposition of a highly organized economic and political system on many different ethnic groups, who they permitted

(D) on their imposing of a highly organized economic and political system on many different ethnic groups and they permitted them

(E) imposing a highly organized economic and political system on many different ethnic groups, permitting them 
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11.
(25059-!-item-!-188;#058&002009)

Nine months after the county banned jet skis and other water bikes from the tranquil waters of Puget Sound, a judge overturned the ban on the ground of violating state laws for allowing the use of personal watercraft on common waterways.

(A) of violating state laws for allowing

(B) of their violating state laws to allow

(C) that it violates state laws that allowed

(D) that it violated state laws allowing

(E) that state laws were being violated allowing 
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12.
(25105-!-item-!-188;#058&002139)

Performing a risky maneuver that required precision flying, not only did space shuttle astronauts retrieve an orbiting satellite, it was done simultaneously while avoiding being rear-ended by a passing ultraviolet telescope.

(A) not only did space shuttle astronauts retrieve an orbiting satellite, it was done simultaneously while avoiding

(B) not only was an orbiting satellite retrieved by space shuttle astronauts, but they also simultaneously avoided

(C) an orbiting satellite was retrieved by space shuttle astronauts who also avoided simultaneously

(D) space shuttle astronauts retrieved an orbiting satellite, simultaneously while avoiding

(E) space shuttle astronauts retrieved an orbiting satellite and simultaneously avoided 
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13.
(25151-!-item-!-188;#058&002234)

One of the earliest known birds with a beak and contour feathers, Confuciusornis sanctus, with large clawlike "thumbs" on its wings, which probably helped them to climb up to a launching position for flight.

(A) with large clawlike "thumbs" on its wings, which probably helped them to

(B) with large clawlike "thumbs" on their wings, which probably helped it to

(C) had large clawlike "thumbs" on its wings, which probably helped them

(D) had large clawlike "thumbs" on its wings, probably to help it

(E) had large clawlike "thumbs" on their wings, probably to help it 

Essay #4.  156
(21764-!-item-!-188;#058&00156-00)

Solar ponds are bodies of water in which circulation is incomplete and there is a very high salt concentration that increases with depth.  This vertical change in salinity serves to trap heat because concentrated brine in the lowest water level acts as a collector and storage area for solar heat, while the less saline, lighter water at the upper levels provides insulation.  Heat is thus retained in the depths.

An artificial pond of this type has been constructed on the western shore of the Dead Sea in Israel in order to test its suitability as a source of low-grade heat for conversion into electricity.  An immediate threat to the success of the venture was the growth of algae.  Water in solar ponds must be kept maximally transparent to allow penetration of light to the deep storage area.  Therefore, any particles of matter in the water, such as algae cells, that scatter or absorb light will interfere with the collection of heat.

One proposed method of controlling the algae was the application of an algicide.  However, the Dead Sea is a closed body of water without any outlet and as such is very easily contaminated.  Extensive use of chemicals in numerous future full-scale solar ponds would lead to such contamination of the Dead Sea, which now enjoys a lucrative tourist trade.

A recent experiment has supplied a more promising method for controlling the algae.  To repress the algae cells' capacity for accommodating themselves to environmental changes, the water in the solar pond was first made more saline through evaporation and then diluted by a rapid inflow of fresh water.  This shock reduced the cells' ability to regulate the movement of water through their membranes.  They rapidly absorbed water, resulting in distortions of shape, increase in volume, and impairment to motility.  Their buoyancy adversely affected, the cells sank to the bottom of the pond, where they encountered the hot waters of the storage layer and were destroyed.  This method allows for effective control of nuisance algae while leaving solar ponds as one of the cleanest technologies providing energy for human use.
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Question #12.  156-01
(21810-!-item-!-188;#058&000156-01)

The primary purpose of the passage is to

(A) discuss ways of solving a problem that threatens to limit the usefulness of an energy source

(B) explain the mechanisms by which solar heat may be converted into energy

(C) detail the processes by which algae cells colonize highly saline bodies of water

(D) report the results of an experiment designed to clean contaminated bodies of water

(E) describe the unique properties of a solar pond on the edge of the Dead Sea 
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Question #13.  156-02
(21856-!-item-!-188;#058&000156-02)

It can be inferred from the passage that which of the following is true about the salinity and temperatures of the highest and lowest water layers in a typical solar pond?

(A) The bottom layer is both highly saline and quite hot, while the top layer is less saline and cooler.

(B) The two layers have similar salinity levels, but the bottom layer is hotter than the top.

(C) There is no way to predict the salinity and temperature of the different water layers in different solar ponds.

(D) The bottom layer is less saline and quite hot, while the top layer is more saline and cooler.

(E) The top layer has both higher salinity and higher temperatures than the bottom layer. 
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Question #14.  156-05
(21902-!-item-!-188;#058&000156-05)

According to the passage, the growth of algae was considered a threat to the success of the artificial pond near the Dead Sea because the algae

(A) produce excess oxygen that lowers the water temperature in the pond

(B) restrict the circulation of water within the pond

(C) enable heat to escape through the upper level of the pond

(D) prevent light from penetrating to the lowest levels of the pond 

(E) prevent accurate measurement of the heat collected in the pond 
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Question #15.  156-08
(21948-!-item-!-188;#058&000156-08)

Which of the following, if true, would seriously undermine the validity of the conclusions drawn from the experiment described in the last paragraph of the passage?

(A) The algae cells that sank to the bottom of the pond were destroyed only after a time lag of twenty-four hours.

(B) The lateral motility of the algae cells that sank to the bottom of the pond was not impaired.

(C) The water with which the artificial solar pond was diluted contained microorganisms that kill algae.

(D) The algae cells that sank to the bottom of the pond were actually killed by the rapid change in pressure.

(E) The higher salinity brought about through evaporation increased the transparency of the upper levels of water in the pond. 
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14.
(25197-!-item-!-188;#058&002294)

Three out of every four automobile owners in the United States also own a bicycle.
(A) Three out of every four automobile owners in the United States also own a bicycle.

(B) Out of every four, three automobile owners in the United States also owns a bicycle.

(C) Bicycles are owned by three out of every four owners of automobiles in the United States.

(D) In the United States, three out of every four automobile owners owns bicycles.

(E) Out of every four owners of automobiles in the United States, bicycles are also owned by three. 
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10.
(24867-!-item-!-188;#058&001810)

Which of the following most logically completes the passage?

For the past several years, a certain technology has been widely used to transmit data among networked computers.  Recently two data transmission companies, Aptron and Gammatech, have each developed separate systems that allow network data transmission at rates ten times faster than the current technology allows.  Although the systems are similarly priced and are equally easy to use, Aptron's product is likely to dominate the market, because __________.

(A) Gammatech has been in the business of designing data transmission systems for several years more than Aptron has

(B) the number of small businesses that need computer networking systems is likely to double over the next few years

(C) it is much more likely that Gammatech's system will be expandable to meet future needs

(D) unlike many data transmission companies, Aptron and Gammatech develop computers in addition to data transmission systems

(E) it is easier for users of the current data transmission technology to switch to Aptron's product than to Gammatech's

Q40
p2-sc 
15.
(25243-!-item-!-188;#058&002297)

In the mid-1920s the Hawthorne Works of the Western Electric Company was the scene of an intensive series of experiments that would investigate changes in working conditions as to their effects on workers' performance.

(A) that would investigate changes in working conditions as to their effects on workers' performance

(B) investigating the effects that changes in working conditions would have on workers' performance

(C) for investigating what the effects on workers' performance are that changes in working conditions would cause

(D) that investigated changes in working conditions' effects on workers' performance

(E) to investigate what the effects changes in working conditions would have on workers' performance 
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16.
(25289-!-item-!-188;#058&002314)

The single-family house constructed by the Yana, a Native American people who lived in what is now northern California, was conical in shape, its framework of poles overlaid with slabs of bark, either cedar or pine, and banked with dirt to a height of three to four feet.

(A) banked with dirt to a height of

(B) banked with dirt as high as that of

(C) banked them with dirt to a height of

(D) was banked with dirt as high as

(E) was banked with dirt as high as that of 

